
Skruvsats • Jeu de vis
  Set of Nuts and Bolts • Universalmontagesatz

11492-03
1

1
4

9
2

-0
3

Net weight 
2.2 kg

Made in EU

R5022 
Plastic 
nut
8pc.

R1073-01 
Bits M6 1pc.
R1074-01 
Bits M8 1pc.

R11895
Rivet 4,8x30
24pc.

R11893
Rivet 4,8x14
24pc.

R1127
Washer
9x28 12pc.

R50614
Safety screw
M8x45 12pc.

R50350
T-track nut
40pc.

R50616
Safety nut
M8 12pc

R5061
Safety screw
M8x16 6pc.

R50604
Safety screw
M6x40 20pc.

R5060
Safety screw
M6x12 6pc.

R50601
Safety screw
M6x16 42pc.

R50607
Safety nut
M6 40pc.

R50603
Safety screw
M6x35 20pc.


